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UP Police Constable Oct 26, 2018 Question Paper

When you are directed, open the top seal of Test
Booklet, take out the Answer Sheet and fill in the
particulars carefully with blue / black ball point pen
only.

2. The test is of 120 minutes duration and consists of
150 objective type questions. Each question carry 2
marks for correct answer. 0.5 marks will be deducted
for each wrong answer.

3. Use Blue / Black Ball Point Pen only for writing
particulars on this page and marking responses in the
Answer Sheet.

4. Make sure that the Test Booklet No. and Series marked
by you on the Answer Sheet is the same as that on this
Booklet.

5. Rough work should be done only in the space provided
in the Test Booklet

6. The answers are to be recorded on the OMR Answer
Sheet only. Mark your responses carefully. No
whitener/ eraser / Blade is allowed for changing
answers.

7. After opening the Test Booklet, please immediately
ensure that the Test Booklet contains as many number
of pages as written on the top of this page. Also ensure
that no page or question is misprinted, torn or left
blank. If any discrepancy is found in test booklet, show
it to Invigilator and get it replaced with test booklet
of same series.

Test Booklet No. This Booklet contains 32 pages. Series
alel gRadT Hea 39 gRAST § 32 U | LIRS
M B
Do not open this Test Booklet until you are asked to do so.
59 e gRA®T B 99 T AT Giel 919 T% HeT 7 oY |
Read carefully the instructions on the back cover of this booklet.
(- — 39 wer gRadT & Mo Ry wR g e @ s | ug |
Allowed Time : 120 Minutes Maximum Marks : 300
FetRa =g @ 120 fFe Afereherd e : 300
1. The OMR Answer Sheet is inside this Test Booklet. 1. 3. TH. IR, SR IAH ERERCES] P 3R B |
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Ql

Q2

Q3

Q4

Q5

Q6

Q7

GENERAL KNOWLEDGE

Long distance runner Sudha Singh won
Silver in the women’s 3000 m steeplechase
event at the Asian Games 2018. She

belongs to  district of Uttar
Pradesh.

(A) Lucknow (B) Kanpur

(C) Raebareli (D) Unnao

The United Provinces was renamed as
Uttar Pradesh on s

(A) 26 January 1950

(B) 24 January 1950

(C) 15 August 1950

(D) 2 October 1950

In February 2018, the district of
Uttar Pradesh selected ‘Kala namak’ rice
as a product under the “One district One
product” scheme.
(A) Gorakhpur
(C) Azamgarh

(B) Siddharth Nagar
(D) Gonda

Sufi poet Amir Khusrau was born in
district of Uttar Pradesh.

(A) Bulandshahar (B) Aligarh

(C) Etah (D) Faizabad

The Tomb of Bahu Begum is situated at
in Uttar Pradesh.

(A) Lucknow (B) Agra

(C) Fatehpur Sikri (D) Faizabad

Which of the following famous Indian
classical singers was fondly called “Appa
J1i” by her disciples?

(A) Girija Devi

(B) Kishori Amonkar

(C) Vasundhara Komkali

(D) Hirabai Barodekar

To which sect does Yogi Adityanath, the
current chief minister of Uttar Pradesh,
belong?

(A) Naga

(C) Kalamukha

(B) Nath
(D) Madhava

Q1

Q2

Q3

Q4

Q5

Q6

Q7

URETE Wt 2018 # ARZAT 3000 m T
Sre ufcrafirar § Xod U faoram “gar

Rig” SN ST & foTel q
KEICCS

(A) IS (B) MR

(C) I &l (D) S+

P I UId BT A1 d&cd PR IwN
goor fohar T orr?
(A) 26 STTeRT, 1950
(B) 24 ST-1aN, 1950
(C) 15 37T, 1950
(D) 2 3facaR, 1950

"Bl THR AT P [ BT Th
STl Teh ST AN &b degd I

Pty el & Sde & wy
#F AT T Y|

(A) TREYR (B) figriR
(C) ST (D) TSt

JH! B 3R G BT 5TH IR T e
Ed fSTel # garr o |

(A) FelaersR (B) 3reiliTe

(C) Ter (D) BT

g 979 B HHI IR Y_e D
# Rera ¥

(A) TETS (B) 3T

(C) BABYR W (D) bofErs

fFrforiRed # 9 fova uRTg R I
TRIGT BT IFd RIS TaRT ”IR 37T
S gl ST 27?

A) FIRST <

(B) 3R mHMHR

(C) IgeRT HIHDIe

(D) ERMETS TRISHR

SR USY & JAA™ JEHA I

=l
(A) =TT (B) =T
(C) drefgE (D) 51
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Q8

Q9

Q10

Q11

Ql12

Q13

Which of the following districts of Uttar
Pradesh shares its boundary with Nepal?
(A) Gorakhpur  (B) Maharajganj

(C) Balia (D) Basti

Which of the following Sikh gurus created
the Khalsa (The Pure Ones) in 1699?
Khalsa was a community of the faithful
who wore visible symbols of their faith and
trained as warriors.

(A) Guru Tegh Bahadur

(B) Guru Har Gobind

(C) Guru Har Krishan

(D) Guru Gobind Singh

State the quantity of gold bought by the
Reserve Bank of India during the financial
year 2017-18 in its first purchase of gold
in almost nine years.

(A) 2.46 metric tonnes

(B) 4.46 metric tonnes

(C) 6.46 metric tonnes

(D) 8.46 metric tonnes

Which Sikh guru introduced the Sikh
marriage ceremony known as ‘Anand
Karaj’?

(A) Guru Nanak Dev

(B) Guru Amar Das

(C) Guru Gobind Singh

(D) Guru Ram Das

Which was the largest fruit producing state
of India in the year 2016-17 as per
horticulture statistics by the Ministry of
Statistics and Programme Implementation?
(A) Andhra Pradesh

(B) Gujarat

(C) Karnataka

(D) Madhya Pradesh

What was the approximate amount of
India’s trade deficit during the financial
year 2017-18?

(A) $126.80 billion

(B) $136.80 billion

(C) $146.80 billion

(D) $156.80 billion

Q9

Q10

Q11

Ql12

Q13

IR TS & fAferRRad forelt & 9 faat
AT 9T & AT oI 87

(A) TREYR (B) WERTSIIS
(C) dferar (D) &I

fr=rferRad & &4 ¥ R o 71 1699
H ATEET U BT AT B of1? ST
e wqer €, foae aue faear &
q¥I YTl Bl UsTd 2 AR Argrdl Bl
e yRiferd gor |

(A) =1 TS AT qB_IGR

(B) % % & Tfd=

(C) #T T T FoI

(D) # 7% Mfdg e

I a9 2017-18 & SR 9RA Rad
9% TART ST A1 98T § AF &1 Ugell
G H @RI Y GH B A fdaT g7
(A) 2.46 Mg e
(B) 4.46 Hif¢p e
(C) 6.46 Mfgh e
(D) 8.46 Hifgh e

fre R 7o 7 Rig fqars 99RE o
YA A BRS D 19 F bl A7
(A) #1 T® D <d

(B) # % 3R &

(C) & 7% wMifd Rz

(D) # % ¥ &9

IIRIPT IR BRIBH HIRATIIT HAT
TART 2016-17 & forw &y 10 qrmart
bl & JTAR AIH ST el IATGD
AR 5T I AT 87

(A) 3T U9

(B) TSRIA

(C) Hle®d

(D) 7T UeTT

fa<ia 99 2017-18 & SR WRA & SATAR
e & T a3 r o?

(A) $126.80 fafera=

(B) $136.80 fafera=

(C) $146.80 fafera=

(D) $156.80 fafera=

SET-B01



Www.prepp.in

Ql4

QI5

Qle6

Q17

Which of the following statements is

correct?

(A) Gulzari Lal Nanda was the Prime
Minister of India at the time of
emergency in 1975.

(B) Indira Gandhi was the Prime Minister
of India at the time of emergency in
1975.

(C) Charan Singh was the Prime Minister
of India at the time of emergency in
1975.

(D) Morarji Desai was the Prime Minister
of India at the time of emergency in
1975.

Which of the following is correctly

matched?

(A) Article 19 (e) — Right to form
associations

(B) Article 19 (b) — Right to practice any
profession

(C) Article 19 (a) — Right to freedom of
speech and expression

(D) Article 19 (g) — Right to assemble
peaceably and without arms

Which of the following statements is

INCORRECT?

(A) The Governor is appointed by the
President.

(B) The Governor holds office during the
pleasure of the President.

(C) The Governor submits his resignation
to the President.

(D) A person of the age of 30 years can
become the Governor.

The Railway Minister of the Indian Union
is appointed by the

of the

(A) Prime Minister; President

(B) President; Prime Minister

(C) President; Speaker of the Lok Sabha
(D) Vice-President; Prime Minister

on the advice

Q14

Q15

Ql6

Q17

o & 9 o9 a1 FF 99 8?

(A) 1975 ¥ 3MUTAHIT & FHI ARl
AT el MRT & Te H37 o |

(B) 1975 ¥ MUIAdIel & F9I 3fax]
MR WRT B e 7 o |

(C) 1975 ¥ MUTAdI & FHI TRT
Rig YR & 9= H31 o |

(D) 1975 # MUTAdT & AT ARRI
TS AR & UeTH HAT o |

frrfaRad # & @9 |1 |98 A= 87

(A) 3T 19 (e) — Y AN BT
JMTPR

(B) 3 T=6T 19 (b) — =il UeT &7 31T
P BT DR

(C) 3 T=8T 19 (a) — WYY AR =i
Pl AT BT DR

(D) 3F=6T 19 (g) - ifgde iR SRRIRT
@ 391 SHST 8F &7 HR

= o & B A1 Tad 87

(A) SgUTe Xsgufd garT Rgad fohar
ST § |

(B) Ieufd @ gTquid ISAdTe
PHRIBTA Y& & |

(C) oYU TEUfcl DT U RIS
RIESIEL

(D) 30 99 &I AR BT Al IAUTA
9 AT ? |

YRA & D=id Nl HAl DI Edl
NEIEIR CCINBERCRMEI|
ST B

(A) e, Tt

(B) IreUfc; gem=THA
(C) Irseufy; Slihd¥T & Teged

(D) SIRTEULT; YE=H
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QI8

Q19

Q20

Q21

Q22

Q23

Q24

Which of the following statements is

correct?

(A) Zakir Husain was the first Muslim
president of India.

(B) Mohammad Hidayatullah was the
first Muslim president of India.

(C) Fakhruddin Ali Ahmed was the first
Muslim president of India.

(D) APJ Abdul Kalam was the first
Muslim president of India.

Q18

Which of the following is the capital of
Jordan?
(A) Zarqa
(C) Salt

Q19

(B) Irbid
(D) Amman

Which of the following is the currency of
Mongolia?
(A) Leu
(C) Kyat

Q20

(B) Togrog

(D) Metical

Which of the following is the third most Q21
populated country in Asia?

(A) Iraq (B) Bangladesh

(C) Jordan (D) Indonesia

Which of the following nations of South
America has the largest forest area in the
South American region?

(A) Guyana (B) Brazil

(C) Colombia (D) Ecuador

Q22

Which among the following is the largest Q23
river of Peninsular India?
(A) Mahanadi (B) Godavari

(C) Krishna (D) Kaveri

When is International Human Rights Day
celebrated every year to mark the

Q24

proclamation of Universal Declaration of
Human Rights by the United Nations?
(A) 10" September

(B) 10" October

(C) 10" November

(D) 10" December

o1 % ¥ e a1 g '?

(A) SR U9 MR @ Ugel gRe
wrezafe o |

(B) AlgHe fRaridedtl 9RA & Ugel
R g o |

(C) BETEA 3Tell BHE WRA & sl
R Irguf o |

(D) QYIS 3gel HelM ARd & Ugal
R Il o |

frafafRag & @ @9 @1 Sred &l
oI 8?

(A) S (B) sfds

(C) dree (D) 3=
fFrferRad # &1 19 A1 Ffora & qgaT
2°

(A) forg (B) TR

(C) ward (D) #fedhe

TR § IR G99 e SeEre) grel
<9 B9 AT 87

(A) TH (B) qivaTQer

(C) it (D) SSHRERT
ferferRaa feroft srRaT el # & fobeaH
gferol MR & &I W gl a9 &3
27

(A) AT (B) sToiiet

(C) draAfrear (D) TSR
frfalRea & & yghiT wRa @ qa9
<! Tl BT AT /Y

(A) HEQ (B) T&TaR!

(C) Pwm (D) BT

YT I FART HAFAIDBR] D1 AHIHD
Yo B e d e @ fog &R 9y
for fafer @1 SfaRTsT A=A feas
HAMT ST 87

(A) 10 RdeR

(B) 10 racaR

(C) 10 deR

(D) 10 faHaR
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Q25

Q26

Q27

Q28

Q29

Q30

Q31

What is the name of the mobile help centre
launched by CRPF in July 2018 to help
the travellers going on pilgrimage to the
Amarnath shrine?
(A) Dost

(C) Yaatri

(B) Saathi
(D) Mitra

With which of the following countries did
India renew her trade treaty in October
2016 for the next seven years?

(A) Bhutan (B) Myanmar

(C) Nepal (D) Bangladesh

How many gold medals were won by
China, who topped the medal tally in the
Asian Games 2018?
(A) 102
(C) 122

(B) 112
(D) 132

In which country is the International Court
of Justice located?

(A) Netherlands

(B) United States of America

(C) United Kingdom

(D) Germany

In plants/trees, after fertilisation the ovary
matures to form the:

(A) Seed (B) Stamen

(C) Pistil (D) Fruit

Damaged CFLs and fluorescent tubes
should be disposed off safely because they
contain vapour, which is toxic in
nature.

(A) Ammonium

(B) Sulphur dioxide

(C) Nitrogen dioxide

(D) Mercury

The vascular tissue that transports water
and nutrients in plants is called the

(A) Phloem (B) Collenchyma
(C) Xylem (D) Sclerenchyma

Q25

Q26

Q27

Q28

Q29

Q30

Q31

JelTs, 2018 H SFRANT Hfex @I el
T B el AT 3 Feraar & forg
HRRGTS aRT P& BT 17 Hdrgel

eIl &g BT A T 87

(A) TR (B) <reft
(C) ar=n (D) fa=
3T A1 ant & forv fe=forRaa <on &

 fHdsd A1 WRA A Iaca” 2016 H
IO AUR W B Addpd B f&am
8?

(A) e (B) ®IMR

(C) =urat OEIEIE
RIS Wl 2018 H UG dlferdT H MY
& dTel I | fhaw W@l ugd S 97
(A) 102 (B) 112

() 122 (D) 132

SRR =Ty foa <o # Rerg 87
(A) *exets
(B) G o7 RSP

(C) Trgce fohiren

(D) ST

Us /Ui H, AN & 918 Jfsery gRafd
gIar &

A) 991 # (B) I—a¥R H

(C) ST # (D) B H

T fue GRIET wU A fHar ST =12y
T gTH T BIAT & S &1
H STEiell B B

(A) I @

(B) AehR SISIATHRATSS Dl

(C) ATEEIH SgailaITgs Bl
(D) IR P

e H g SR U Il b uRdgd &
forg agl Sadd BT HET ST § |
(A) TAIGH (B) Plei-dmTSH
(C) Sirge™ (D) FHRABISH

SET-B01



Www.prepp.in

Q32

Q33

Q34

Q35

Q36

Q37

Q38

Out of the following options, choose the
name of a spore-producing plant:

(A) Marigold

(B) Bread mould

(C) Potato

(D) Ginger

Which of'the following is a man-made fibre
that was made without using any natural
raw material (from plant or animal)? It was
prepared from coal, water and air. It was
the first fully synthetic fibre.

(A) Bioplastic (B) Nylon

(C) Rayon (D) Polystyrene

World Hindi Day is celebrated on
(A) 10January  (B) 15 January
(C) 17 January (D) 17 December

propounded the inheritance of
acquired character.
(A) Jean-Baptiste Lamarck
(B) August Weismann
(C) Gregor Mendel
(D) Charles Darwin

Who is the author of the book titled
‘Rebooting India: Realizing a Billion
Aspirations’?

(A) Satyarth Joshi (B) Nandan Nilekani
(C) Ratan Tata (D) Vishal Sikka

Full-fledged GST was recommended by
(A) Raja Chelliah committee

(B) Vijay Kelkar Task Force

(C) GST Council

(D) Manmohan Singh Commission

India’s first cyber police station was set
up in

(A) Kochi
(C) Bengaluru

(B) New Delhi
(D) Chennai

Q32

Q33

Q34

Q35

Q36

Q37

Q38

fFrfoRad fawedl # 9, gToded die
TG dier BT A ﬂﬁ

(A) IaT

(B) S Alcs

(C) 31e]
(D) 3Texb

el 1 UTepfcres @ed A1t (e AT STHeaR
W) & O TR T ve AWa AT
BhIgax | I8 DI, T 3R 8T A IR
fpar T or| I8 ugenm qui RHAfew
BIgaR AT | T8

(A) S1g wRed  (B) A

(C) = (D) diferRe

fawq &1 feaw BT HATIT ST
2l

(A) 10 STTaRI
(C) 17 STa_1

(B) 15 STaRl
(D) 17 &R

9 rferufed ok @ favmad &
Rrgia &1 wfauifea fear |
(A) STH—dufeRe oH RS
(B) 3M< qTgoTHA
(C) IR Heed
(D) T SIfd

Agfen sfear qgemsfoim v faferas
TRINT S EANEE P gD P &7
(A) It St (B) ed oo
(C) a1 <TIel (D) faemer Ryt

9o ®U A SIL.H.SL B iR
TART DT T8 oY |

(A) TSI <retam Afafa

(B) faSTT ®edr TRG BN
(C) STl uRyg

(D) #AEA Rig Mt

R BT Igell A1SaR gferd e
¥ erfud fhar Tam o |

(A) Bifed (B) 7T facen
(C) TTge (D) =18
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Q39

Q40

Q41

Q42

Q43

Q44

NUMERICALABILITY

Solve the following equation:

48 +[35-{30—-(31-26+2x4)}]="
(A) -2 (B) -3

C) -4 (D) -8

Solve the following equation:

143 +143+1.43+0.143+0.0143="?
(A) 158.8783 (B) 158.8863

(C) 158.8683 (D) 158.8873

What is th fl dl?
at is the sum of 1 -and /"

14
(A) 13

14
(B) o

7
© 5

7
(D) EY)

What is the largest four-digit number that
is divisible by each of 15, 25 and 35?

(A) 9975 (B) 9925

(C) 9875 (D) 9825

What is the HCF of 150, 225 and 375?
(A) 15 (B) 25
(C) 75 (D) 125

Which of the numbers given below is
exactly divisible by 24?

(A) 14744

(B) 28856

(C) 43976

(D) 57528

Q39 fo= AU U FHHRT BT 8 BN |

48 +[35— {30 — (31 - 26+ 2 x 4)}] =2
(A) -2 (B) -3
(C€) -4 (D) -8

A faU T TERT BT ' BN |

143 + 143 + 1.43 +0.143 + 0.0143 = 2
(A) 158.8783  (B) 158.8863

(C) 158.8683 (D) 158.8873

7 7
Eeﬁ'\f TSWWW@TH?

14
(A) 13

14
(B) o

7
© 5

7
(D) E%)

a9 I 4 3ich] Tl GT T =, T 15,

25 3R 35 H W UA® AT fa9iiora et
ATy g?

(A) 9975 (B) 9925

(C) 9875 (D) 9825

150, 225 31X 375 BT A9, fha-T N7

(A) 15 (B) 25

() 75 (D) 125

A &Y T3 SRR H | DI AT G 24
A QI ARE i e A 27

(A) 14744

(B) 28856

(C) 43976

(D) 57528
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Q45

Q46

Q47

Q48

Q49

Q50

If 164 is divided in the ratio 32 : 9, what
is the value of the smaller part?

(A) 45 (B) 36

(C) 54 (D) 27

In an entrance test one requires 522 marks
out of a maximum of 600 to qualify. What
is the cut-off in percentage terms?

(A) 87 (B) 88

(C) 85 (D) 86

What will be the interest earned on T 1980

in five years @ 8% simple interest per

annum?
(A) ¥ 891 (B) ¥ 829
(C) X796 (D) 792

The difference between a gain of 15% and
a loss of 9% is ¥ 768. What is the cost
price of the item under consideration
here?

(A) 2640
(C) 3200

(B) T 2880
(D) T 3440

The marked price of a toy was I 1800.
Two successive discounts of 20% and
15% were offered on it during a sale.
What was the selling price of the toy?
(A) %1202 (B) T 1224

(C) X 1170 (D) X 1230

Torsha started a business with I 2250
while Trisha invested ¥ 2880 after a few
months. If the end-of-12-months (from
Torsha’s investment) profit is shared by
Torsha and Trisha in the ratio 25 : 24, for
how many months did Trisha stay

invested?
(A) 7 (B) 8
<) 9 (D) 10

10

Q45

Q46

Q47

Q48

Q49

Q50

Ife AT 164 BT 32 1 9 D UM H
fofSTa fobam Sirar &, o BIc 9N @l
A e gr?
(A) 45
(C) 54

(B) 36
(D) 27

Al e WRem H Rdl U HRA @
forg ofrma® 600 H W 522 3B B
JAMLIHAT Bl = | Ufderd H & 3ih
T B?
(A) 87
(C) 85

(B) 88
(D) 86

@ 8% @1 AIfid ARIRYT T &R WR 5
Y % ¥ 1980 P &rol fabe=T EITT?
(A) T 891 (B) T 829

(C) T 796 (D) T 792

15% @ o9 3R 9% I 81 & §r bl
R T 768 & | Tl FoRIeh! a1t bl ST Rel
2, S99 O] BT AR Hed faaer 22
(A) T 2640 (B) T 2880

(C) T 3200 (D) T 3440

& Rgei &1 sifhd gea T 1800 27|
fymr @ JTITT 20% MR 15% BT
RraRretar &1 g & T8 | Raelld @1
fasa g fa=m srm?

(A) T 1202 (B) T 1224

(C) T 1170 (D) T 1230

AREM 9 %2250 & AT Th HREAR Y
far, Safs o w8 & 99 Brem |
% 2880 1 foraer & faar| gfe 12-784T
P 3 (@R B 99 & I |q) d™
DI AR AR 3T GART 25 : 24 & U
# qicT SIrar B, ar e 7 fea weE &
fore faer faan orr?

(A) 7 (B) 8

©) 9 (D) 10
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Q51

Q52

Q53

Q54

One morning Vaidehi cycled from her
house to her office at 15 km/hr but owing
to heavy traffic could return from her office
at 10 km/hr. What was the average speed
for the two-way trip?

(A) 12.4 km/hr

(B) 12.5 km/hr

(C) 12.25 km/hr

(D) 12 km/hr

Ifx:9:5:y,thenxy="7?
Ay 2
(A 5
(B) 45
o) 2
(©) %

(D) 3.5

What would be the interest accrued in two
years if X 800 is invested @ 10% interest
compounded annually?

(A) T 162

(B) X 160

(C) X 166

(D) X 168

Nine pipes are attached to a tank, of which
some are emptying pipes and some are
filling pipes. Each filling pipe can fill the
empty tank in 24 hours, while each

emptying pipe can empty the fully filled
up tank in 18 hours. If the tank is full and
all the pipes are opened simultaneously,
the tank is emptied after 9 hours. The
number of emptying pipes is:

(A) 6

B) 5

(C) 4

(D) 3

11

Q51

Q52

Q53

Q54

T GIE IS8T 3 TR ¥ SRR A1zl
R 15 km/hr B TRT ¥ g AT 9gd
IS ATAETT & BRI Ao H SHADT
T 10 km/hr I8 | SI—TRWT A3 & forg
JirTa wifar e ofi?

(A) 12.4 km/hr

(B) 12.5 km/hr

(C) 12.25 km/hr

(D) 12 km/hr

AfS x:9 5y, Aay=2

5
(A) 9

(B) 45
El
©) -

(D) 35

% 800 Bl 10% @I dIf¥ep ashgly =aTe
w® R 9w fear Srar g, o ay H
AT =TT BT AR fhei BRf?

(A) %162

(B) T 160

(C) %166

(D) T 168

TG UISY CF Pl Wlell IR 2 & AR {B
U8y S dl R B & | IAd ¥R aTe]
q1SY WTell &b B 24 Tl § 4R Adhdl B,
Sidfh UAd Tl dHR- dTell d18yd 18

o H [ ORE ¥ P B WTell B Tl
£ | gfe <o qR) TRE 9RT 83N ® SR |l
18y Udh A1 Wil S 8, df S 9 ©c
H @rell 8 AT 81 & DI @lell &
qrel TTSU} @1 AT &

(A) 6

(B) 5

©) 4

(D) 3
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Q55

Q56

Q57

Sarthak can fill a sandpit with sand in 14
days while Vivan takes 35 days to fill it.
Ali can empty all of the sand from a filled
sandpit in 12 days. If all three start
working when the pit is empty, in how
many days will the sandpit be full again?
(A) 60
(B) 61
(C) 62
(D) 56

Manmath rowed a distance downstream

in 7.5 hours while it took him 10.5 hours

to row the same distance upstream. To

make the two-way journey in still water,

how many hours will it take him?

(A) 18l
4

(B) 18

1
(C) 175

3
D) 177

A train, travelling @ 67.5 km/hr passes a
pole in 9 seconds and a platform in 29
seconds. What is the length of the
platform?

(A) 400 m

(B) 375m

(C) 380m

(D) 350 m

12

Q55

Q56

Q57

ARIE 14 Al 3T & Uh TSe D W)
AT & aidh f[9a &I 39 W= & oy
35 f&7 oFTd g | 3fell 12 faAl § wa R
U XA @ TS DI PRI el B Feabell
21 At @rell 188 # Ol U e B
YH B &, Al N BT T8al R A e
el § W S

(A) 60

(B) 61

(C) 62

(D) 56

HId ORT & Q1Y 7.5 €¢ 4 Uob X0
HRAT B, Sdfh ORT & ARG a8 g
T B H SH 105 €S T | e
U H GI—TR%T AT &R & oIy, S

fhd= T olI?

1
(A) 185

(B) 18

1
(©) 175

3
D) 177
TH oA, fal T 67.5 km/hr 7, 9
JAde H Uh W@WT IR 29 Ahs H Th
RICHH IR BT 8 | ©IChH B g
fopa=ir 87
(A) 400 m
(B) 375m
(C) 380 m
(D) 350 m
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Q58

Q59

Q60

Q61

Q62

MENTALABILITY

Select the option that is related to the third
term in the same way as the second term
is related to the first term:

Kuwait : Dinar :: Turkey : ?

(A) Rial

(B) Kyat

(C) Yen

(D) Lira

Select the option that is related to the third
term in the same way as the second term
is related to the first term:

Affirm : Deny :: Create : ?

(A) Make

(B) Use

(C) Destroy

(D) Worst

Owl is related to Flit in the same way as
Lamb is related to:

(A) Frisk

(B) Strut

(C) Fly

(D) Prowl

Select the option that is related to the third
term in the same way as the second term
is related to the first term:

Owl : Hoot :: Goat : ?

(A) Bleat

(B) Beat

(C) Quack

(D) Roar

RST is related to 181920 in the same way
as GHI is related to:

(A) 8910

(B) 7611

(C) 789

(D) 7810

13

Q58

Q59

Q60

Q61

Q62

faw U fAwmedl # & 9 U B 7T I,
ST AIRR U ¥ 991 TR Hefed g, o
UHR SAT UG Ul Ug | AT &
aﬁﬁ:ﬁ?l’\’::g_cﬁ:?

(A) Rara

(B) durd

(C)

(D) =T

fow U fAmedl # & 9 U B 7T I,
ST AR U ¥ S TR e g, o
YR A US U U ¥ A
YRR : JTDHROT - Gold : 7

(A) 7T

(B) SUINT

(C) =

(D) ipedq

R TR Sogg TS W Hadd 7, S
THR T GERd @

(A) DIST BRAT

(B) 3ps

(C) S

(D) oo

ey v faweal # 9 S Ug &1 79 I,
ST AN U] 9 S TR |afed 7, o
JHR A US U U ¥ A
W:E\E::aﬂ?\ﬁ:?

(A) AT

(B) ggh

(C) di—adl

(D) TgrsT

‘RST’ “181920° & T TR Hdfdd ¥,
S UeR ‘GHI foa & Hdfera 27

(A) 8910

(B) 7611

(C) 789

(D) 7810
SET-B01
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Q63

Q64

Q65

Q66

Q67

Select the option that is related to the third
term in the same way as the second term
is related to the first term:
ER:VI::JQ:?

(A) DF

(B) QJ

(C) KM

(D) IR

Select the option that is related to the third
term in the same way as the second term
is related to the first term:

BCE:10:: KMQ:?

(A) 31

(B) 41

(C) 111317

(D) 111217

Select the option that is related to the third
term in the same way as the second term
is related to the first term:

Butterfly : Insect :: Snake : ?

(A) Cobra

(B) Python

(C) Reptile

(D) Rodent

Identify the next term in the following
letter series:

AZ, BY, CX, DW, ?

(A) EV

(B) VE

(C) EU

(D) FU

Identify the next term in the given letter
series:

C,E,GK,M,?

(A) P

B) Q

(C) R

(D) S

14

Q63

Q64

Q65

Q66

Q67

fau v fapedl & & S Ug BT T DY,
ST AR UR 9 S UBR HeRd 7, o
JHR IRT IS Ugel U8 9 Hafda &
ER:VI::JQ:?

(A) DF

(B) QJ

(C) KM

(D) IR

fag Y fawedt # | 99 U BT IIT BN,
ST AR US| S UBR HeRd 7, o
JPHR ERT IS Ugel U8 ¥ Hafda &
BCE:10:: KMQ:?

(A) 31

(B) 41

(C) 111317

(D) 111217

fag TIQ fawedt # | 39 U BT IIT DY,
ST AR U 9 S UBR HeRd 7, o
JHR ERT IS Ugel U8 9 Hafda &
fdael i Pl : 9 U : ?

(A) BIERT

(B) 3R

(C) Ty

(D) e

fAforaa a1eR 2l # a7Tel e &l
Uga By

AZ, BY, CX, DW, ?

(A) EV

(B) VE

(C) EU

(D) FU

fr=feTRad 31eR SRaeTT | 3Tel T’ &
Ugd Y

CEGK,M,?

(A) P

B) Q

(C) R

(D) S
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Q68

Q69

Q70

Q71

Q72

Identify the missing term in the following
letter series:

K,0O,S,?

A) T

(B) U

(Y

(D) W

Identify the missing term in the following
number series:

11, 22, 44, 66, ?

(A) 77

(B) 88

(C) 99

(D) 110

Identify the missing term in the following
number series:

13, 4,26, 8, 52,7, 104, ?

(A) 4

(B) 5

(€ 6

(D) 7

Identify the next term in the following
number series:

220, 284, 356, ?

(A) 400

(B) 411

(C) 436

(D) 441

Identify the next term in the given series:
156,272,342, ?

(A) 506

(B) 529

(C) 560

(D) 592

15

Q68

Q69

Q70

Q71

Q72

FrfetRad sieR sfige H o 3leR @l
PEEIE s

K,O,S,?

(A) T

(B) U

© Vv

D) W

frforRaa G sfaer 4 gw | o
EEIR S

11, 22, 44, 66, ?

(A) 77

(B) 88

(C) 99

(D) 110

frforRaa S sfae 4 gw | o
PEEIE S

13,4, 26, 8,52,7,104,?

(A) 4

B) 5

(©) 6

D) 7

fFrfeTRad G SR # eFTell |
D YA B

220, 284, 356, ?

(A) 400

(B) 411

(C) 436

(D) 441

frfeTRad = SRt # eFTell |
D YA BN

156,272, 342, 2

(A) 506

(B) 529

(C) 560

(D) 592
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Q73

Q74

Q75

If South-East becomes North, North-East
becomes West and so on, what will South
become?

(A) East

(B) North-East

(C) South-West

(D) West

Atul walks 5 km toward North and then
turns to the right. After walking 3 km he
turns to the right and walks 5 km. How far
away is he from his starting position?

(A) 3km

(B) 4km

(C) Skm

(D) 13km

Given below is a statement followed by
two arguments numbered I and II. You
have to decide which of the arguments is

a strong argument.

Statement:
Should the private sector be permitted to

operate hospitals in India?

Arguments:

I.  Yes, they are operated in advanced
western countries.

II. No, it is risky to put the hospitals in

private hands.

(A) Only argument I is strong

(B) Only argument II is strong

(C) Neither argument I nor II is strong
(D) Both arguments I and II are strong

16

Q73

Q74

Q75

afe f@-gd, IR 99 W ®, &R
SR—7d, Ufgd 99 a1 § IR S
WE w4 fQeny 9ga Il €, <f&or
RIT BIIT?

(A) gd

(B) <féror—gd

(C) <leror—uf¥gH

(D) uf¥=H

A IR Bl TRB 5 km Bl QT Th
A B 3R B a8 3R FSdR 3 km
qo B 915 98 R F T SR JeT |
3R 5 km Ferdl 7 |

3q I8 YoMl wF ¥ fhal 1 W
27

(A) 3 km

(B) 4km

(C) 5km

(D) 13 km

A TP HUF IR 3T Td [3MR 11T 717

g g of & ®um & ey 7 B

AT/ Tb AGd &/ |

HUA :

T A5 & BT YRd § IRUdTel Bl

SEIRNECEEICI RS LIRS IS TICT R

aod :

[. & g Id e <o § et
Bl 2 |

II. 781, sryaral fon i § wa=r
GARATD T |

(A) Bad TH 1 Aolgd &

(B) ®aal T I #olgd &

(C) @I T@ I3IR 9 & d@ 7ol &

(D) 1R ISl T@ AT ¢ |
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Q76 Given below is a question followed by two

statements, [ and II, each containing some
information. Decide which of the
statements are sufficient to answer the
question.

The difference between father’s age and
son’s age is 21 years now. What is the

present age of the son?

Statements

I.  After five years, the ratio of father’s
age to that of the son would be 5:2.

II. The sum of father’s age and son’s age
after five years would be 66 years.

(A) Statement I alone is sufficient.

(B) Statement II alone is sufficient.

(C) Either statement I alone or statement
I alone is sufficient.

(D) Both statements I and II together are
needed.

17

Q76 = Y& U 3R &I T [3IR 1113y Ty

7, e B SMeRal e € | ok
ol fb Ued &1 IR a7 & folg & |
HAT BT B |

T @1 ey 3R g3 &1 g H 21 AT
BT AR B | Y BT aad A fbe &7

HIA

I U e 78, fudr &1 Iy &R 9@
T @ R H 5:2 HT U BT |

II. Ui A1 91, fUdr &1 3y iR g3
@1 AR BT ANT 66 AT BN |

(A) Bad HIT [ T 2 |

(B) ®ad U 1l T 7 |

(C) IT A B 17 H 11 7 B |

(D) %4 18R 11 SF! gaie & |
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Q77

Q78

Q79

Q80

Q81

Find the number that follows in the given
series.

5,12, 26, 54, 110, ?

(A) 222

(B) 111

(C) 224

(D) 220

Find the missing term in the given series.
7,19,43,91,2,379

(A) 180

(B) 187

(C) 182

(D) 184

Which number would replace the question
mark in the given series?

9,31,97,295, 72,2671

(A) 890

(B) 889

(C) 887

(D) 885

Vikranth is thirty-second from top in a
class of 65 students. What is his rank from
the bottom?

(A) 33

(B) 34

(C) 32

(D) 30

Vani is sixth from the front end of a line
and Swathi is ninth from the back end of
the line of girls. If there are seven girls
between Vani and Swathi, how many girls
are there in the line?

(A) 20

(B) 21

(©) 22

(D) 23

1Q

18

Q77

Q78

Q79

Q80

Q81

S ST | 3Tl WA Bi AT BI?
5,12, 26,54,110,?

(A) 222

(B) 111

(C) 224

(D) 220

9 Sl W 7 B W W FIT IMYIT?
7,19,43,91, 2,379

(A) 180

(B) 187

(C) 182

(D) 184

9SGl § 7 D W W FIT IMYIT?
9,31,97,295,7?,2671

(A) 890

(B) 889

(C) 887

(D) 885

65 BT &I Hell | fahid &1 e oy
I gciNgal ® dr 3fd W SHdT BiF AT
R BRTT?

(A) 33

(B) 34

() 32

(D) 30

defeal @1 orga | 9rft 3 9 wo
WM R 2 3R w@rfd is & Al =i+
R | ol iR Wi & 9= § 9
Srsfaat €, ar dfad # qet foa arsfaat
g7
(A) 20
(B) 21
(C) 22
(D) 23
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Q82

Q83

Q84

Q85

Q86

Swarna is ranked sixteenth from the top
and sixth from the bottom of a class. How
many students are there in the class?

(A) 22

(B) 23

(C) 21

(D) 20

If the day before yesterday was Sunday,
what day will fall on the day after
tomorrow?

(A) Friday

(B) Thursday

(C) Wednesday

(D) Monday

Friday was a holiday for Republic day. 15
of the next month was again a holiday.
What day was it on the 15%?

(A) Wednesday

(B) Friday

(C) Sunday

(D) Thursday

If SEISMO is written as TEJSNO, then
how would EARTHD be coded in that
language?

(A) FASTID

(B) EBRUHD

(C) EBTASN

(D) EARDHT

In a certain code, MASTER is written as
TBNSFU. How will DANCER be written
in that code?

(A) NADSFO

(B) OBEREC

(C) NADREC

(D) OBESFD

19

Q82

Q83

Q84

Q85

Q86

UH H&l H WOl & HUR A Aletgdl I
2 3R T ¥ Bl W | BelT # fo
IEERIER

(A) 22

(B) 23

(C) 21

(D) 20

MR &l & Ugl Bl fad AqIR o, ar
MM dlel &d & dI BT o DA Al
BRTT?

(A) IhaR

(B) T®IR

(C) guar

(D) SR

YhAR DI TS 3T B AR W el
ofl | 3FTel HEIH &I 15 ARG Bl R A
gel &1 39 &, 39 15 ARG Bl I AT
e grm?
(A) g9aR
(B) YpdRR
(C) Xfdar
(D) THaR

afe fefl dre wem § SEISMO &1
TEJSNO for@r <rar €, ar <1 wrer #
EARTHD &7 {9 UaR forar Sirg?
(A) FASTID

(B) EBRUHD

(C) EBTASN

(D) EARDHT

afe fdt dIe §# MASTER &I TBNSFU
forar <Tram &, a1 S die § DANCER
P fd bR forar Siro?

(A) NADSFO

(B) OBEREC

(C) NADREC

(D) OBESFD
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Q87

Q88

Q89

Q90

Q91

In a certain code language CHICKEN is
written as DHJCLEO. How will FISHN
be written in that code language?

(A) FISIN

(B) GITHO

(C) FISHO

(D) GISHO

The position of how many letters in the
word RAINBOW will remain unchanged
when they are arranged in alphabetical

order?
(A) One (B) Three
(C) Four (D) Two

Find out how many such pair of letters
are there in the word RUST that have as
many letters between them in the word as
there are between them in the English

alphabet:
(A) One (B) Two
(C) Three (D) Four

Anu is Bali’s sister. Komal is Bali’s mother.
Dinu is Komal’s father. Ean is Dinu’s
mother. How is Anu related to Dinu?
(A) Mother

(B) Grandmother

(C) Daughter

(D) Granddaughter

Pointing to a chess player, a man said to a
woman, “His mother is the only daughter
of your father.” How is the woman related
to the chess player?

(A) Grandmother

(B) Maternal aunt

(C) Paternal aunt

(D) Mother

20

Q87

Q88

Q89

Q90

Q91

gfe el @ 99T § CHICKEN &1
DHJCLEO forar <rdr 2, ar S als
99T § FISHN &1 {5 TR form Sro?

(A) FISIN

(B) GITHO

(C) FISHO

(D) GISHO

RAINBOW &g & 3H&Ri Bl Juiigshd |
IR BT © 91 39 = H e
3Rl @ Rerfa saRafda <=+f?

(A) TH (B) <

(C) IR (D) &I

I qai b Qg 17 wreg # QR & U9

e oiie & o f& SS9 s @
JTI—ATY U quETenr | O 99 qH1

% 4/ ¥ A B |

RUST

(A) TP (B) I
(C) = (D) =R

379, dTell BT 981 8 | PIFe, dTell DI Al
2| <, ®Fe &1 fUar 2 1 sa, < B
A 21 Al g, <L 9 5 yeR Hefd
87

(A) 7

(B) <1<l /AN

(C) ¥

(D) It/ =fas

AMEHT 7 UH ARl | HEl, [SHAD Al
e fOdr @ TeaEE d9S B 17 Afdelr
27

(A) T

(B) AT

(C) =rd

(D) =i

SET-B01



Www.prepp.in

Q92

Q93

Q4

Select the option that is related to the third
term in the same way as the second term
is related to the first term:

Blacksmith : Anvil :: Carpenter :

(A) Axe

(B) Saw

(C) Spade

(D) Sword

Select the option that is related to the third
term in the same way as the second term
is related to the first term:

Gun : Shoot :: Chisel :

(A) arve

(B) Scoop

(C) Bore

(D) Dig

Study the following diagram and answer
the question that follows.

The following Venn diagram shows the
result of a survey of 1500 persons in a
city with respect to their knowledge of
Kannada (K), Hindi (H) and Telugu (T).

How many people know exactly two
languages?

(A) 150

(B) 300

(C) 400

(D) 450

21

Q92

Q93

Q4

faU Y fawedi § 9 99 Ug & 9T B,
S TR U 9 ST UBR SR 7, o
JHR ORI UG U8 U o Haed o
AleR : A& :: 9g8 :

(A) BeETsl

(B) am1

(C) g1

(D) detdaR

QU Y fadheti § ¥ 99 Ug &I AT &Y,
ST RN I8 | ST UaR a2 o
JHR ORI UG U8l U o Haed o
UG I A | I

(A) T

(B) ¥oU

©) T

(D) Garg

W fear T 9 o drs (K) B
(H) 3R I (T) & 9 & Hae H b
IEX H 1500 AN © FIETT & TRV &
IR H SHGRNT <l B |

@del &I WG SEA darel Afdad) &l
e fhae 87

(A) 150

(B) 300

(C) 400

(D) 450
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Q95 Study the following diagram and answer

Q96

the question that follows.

The following Venn diagram shows the
result of a survey of 1500 persons in a
city with respect to their knowledge of
Kannada (K), Hindi (H) and Telugu (T).

How many people know only one
language?

(A) 1000

(B) 1050

(©) 50

(D) 400

Study the following diagram and answer
the question that follows.

The following Venn diagram shows the
result of a survey of 1500 persons in a
city with respect to their knowledge of

Kannada (K), Hindi (H) and Telugu (T).

How many people know all the three
languages?

(A) 50

(B) 150

(C) 300

(D) 1050

22

Q95 I f&ar a1 9F IR’ FTs (K) Bl

Q96

(H) 3R 9T (T) & A9 & Hae H Tb
IER H 1500 AN & FIETI & RO &
IR H SR 2T 2 |

Pael b WY ST drel Ffdadl &l
e fha 87

(A) 1000

(B) 1050

(C) 50

(D) 400

A e T OF e de (K) Bl
(H) 3R 9T (T) & A9 & Hae H T
IER H 1500 AN & FIETT B GROMH &
IR H AEHRI T 2|

A T AT9IeT ST dTel fdaal &l
e fha 87

(A) 50

(B) 150

(C) 300

(D) 1050
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Q97

Q98

Study the following bar graph carefully
and answer the question that follows.
The bar graph shows information about
the sales of wrist watches from five
branchesA ,A A , A, and A, of company
‘ABC’ in 2016 and 2017.

Sales (crores)

A1 Az Ag AA AS
Ny-2016 [ ]-2017

What is the ratio of total sales of branches
A and A, for the year 2016 to the year
201772

(A) 2:3
(C) 3:4

(B) 3:5
(D) 3:7

Study the following bar graph carefully
and answer the question that follows.
The bar graph shows information about
the sales of wrist watches from five
branchesA ,A,A,,A, and A, of company
‘ABC’ in 2016 and 2017.

Sales (crores)

A1 Az Ag AA AS
Ny-2016 [ ]-2017

What is the ratio of total sales of all
branches for the year 2016 to 2017?

(A) 9:4 (B) 9:7

(C) 7:6 (D) 7:9

Q97 iy WY =ME BT LATYGD FEIIT PN 3R

23

Q98

Ul B I ¢ |
IR T § 2016-2017 § BUT “ABC” BT

i AR AL, AL AL AR A Bells
il @I 461 & IR H SHBRI a1 T8
gl

Sales (crores)

Ay As
NY-2016 [J-2017

A, A

ay 2016 ¥ a9 2017 b AR A, A,

& Fet T BT gUTad FT 22
(A) 2:3 (B) 3:5
(C) 3:4 (D) 3:7

QU 7T =M &1 SaIgd® AT BN 3R
Tl BT SR < |

R =rc H 2016-2017 H HU TR
@ e ARl A LA, AL AR ALY
Dolls afSAl o1 9 & IR F BRI
CURIERA

Sales (crores)

Ay As
NY-2016 [J-2017

A, A

2016 ¥ 2017 H W AR B B

T @1 rguTd I 2?
(A) 9:4 (B) 9:7
(C) 7:6 (D) 7:9
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Q99 Choose the figure that is different from

the rest:

ALY

A B C D
(A) A
(B) B
(C) C
(D) D

Q100 Choose the figure that is different from
the rest:

TaT17 | 1171 | 11411 | TaTa?

A B C D

(A) A
(B) B
©) C
(D) D

Q101 Choose the figure that is different from

the rest :

+ +|+ Ala + [+ +
A AA +|+ A|la A
A B c D

(A) A

(B) B

©) C

(D) D

Q102 Choose the option which is least like the
other words.
(A) Bitch
(B) Cow
(C) Vixen
(D) Bullock

Q99 TH AT BT TIT B I TERI A T

AV

A B C D
(A) A
(B) B
©) C
(D) D

Q100 T 3P BT =TT B S TERI A A=
g

TaT17 | 1171 | 11411 | TaTa?

A B C D

(A) A
(B) B
©) C
(D) D

Q101 I AP BT =TT B ST TERI A A=
g

+ +|+ Ala + [+ +
A AA +|+ A|la A
A B C D
(A) A
(B) B
©) C
(D) D

Q102 IH ¥es BT g Sl A8 ¥ g ¥&l &
A T8 8?
(A) Ffrar
(B) T
(C) et
(D) dt
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Q103 Choose the option which is least like the
other words.
(A) Horse
(B) Tiger
(C) Lion
(D) Cheetah

Q104 Choose the option which is least like the
other words.
(A) Pressure
(B) Volt
(C) Newton
(D) Watt

Q105 Choose the figure which is different from

the rest.

VAN7A WA VAN
—l — -
A B C D
(A) A (B) B
©) C (D) D

Q106 Choose the figure which is different from

the rest.
SO alC
A B C D
(A) A (B) B
©) C (D) D

Q107 Choose the figure which is different from

the rest.
X | 2| | &
A B C D
(A) A (B) B
©) C (D) D

Q103 IH & BT g Sl A8 H g v&l &
HHA TEI 87
(A) =TT
(B) @90
(€) T
(D) =

Q104 I ¥es BT i Sl A8 H g ¥&l &
A TE 87
(A) IR
(B) drce

(C) —ged
(D) d1e

Q105 I APHT BT TIT B I TERI A T
g

/AN

AN WA PAN

— — Ar—
A B C D
(A) A (B) B
(C) C (D) D

Q106 I BT BT TIT B I TERI A 4T
g

M
v

1

S
>

A B C D
(A) A (B) B
©) C (D) D

Q107 I AHT BT TIT B I TERI A T
g

I | 2| =

&I

A B C D
(A) A (B) B
(C) C (D) D
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Q108 Count the number of squares in the

following figure:

1

| N
(A) 24 (B) 26
(©) 30 (D) 32

Q109 Identify the mirror image of the following
figure.

)| M xifyiteily

A B Cc D

(A) A
(B) B
©) C
(D) D

Q110 How would the following transparent
sheet appear when it is folded on the

dotted line?

O A @ | @®@A|OV|IOV

. v
A B C D
(A) A (B) B
(C) C (D) D

QI11 A box can be formed by folding the
following sheet as shown in the figure.
Which letter would be on the face opposite

M?
0
[L[M[N]
P
Q
(A) O (B) P
©) Q (D) L

Q108 & ¥ P # It Y A=A faat 87

M1 rrnm

g J
(A) 24 (B) 26
(C) 30 (D) 32

Q109 i & TS MG &I TUT BT FT
BfI?

)| M xifyiteily

A B Cc D

(A) A
(B) B
©) C
(D) D

Q110 519 39 Rt We & &) are var
R AT S @ 6 UBR &1 U
i grm?

O A @ | @®@A|OV|IOV

. v
A B C D
(A) A (B) B
© C (D) D

Qlll f # fe@m MY IguR dfle 4§ 1P

dTRT §ETT ST AdhdT & | dfRd § M &I

faodg ¥dg W B9 A1 3R B

0
[L[M]N]

P

Q
(A) O (B) P
©) Q (D) L
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Q112

Q113

A box can be formed by folding the
following sheet as shown in the figure.
Which letter would be on the face opposite

u?

S

s|<|c|+

(A) S
(B) W
©) Z
(D) V

A box can be formed by folding the
following sheet as shown in the figure.
Which sign would appear on the opposite

side of $?

[+]x
@
x| 3|

A) @
(B) =
©) +
(D) x

27

Q12 fora # fR@y v IR dfle & P

dTRT 99T ST AahaT 2 | afag | U &I
T Adg W B9 41 38R BRTT?

[s

s|<|c|+

(A) S
(B) W
©) Z
(D) V

Q113 o % fe@m Y gaR e 4 B

4T 9T S AhdT 2| dfd § § &l
g \dg W & a1 s gnme

[+]x
@
x| 3|

A) @
B) +
©) +
(D) x
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HINDI

Q114 Uit & fha 9T B°

(A) T (B) wrd
(C) (D) s
Q115 fr=fIRad & HII—T ITeg SNFAT B—
(A) Hferd (B) ®8R
(C) Ule® (D) Tf

Q116 YfeelTT 3rea BT T BIfSTU—

(A) TRt (B) oiRaar
(C) ag (D) #rad
Q117 e &1 agaa er—
(A) frerant (B) frerant
(C) ferferaTy (D) fRreranToT
Q118 Hf 7 IR ¥ HUST WRIET | NEifdbd &7
BRP ATV |
(A) T BRB  (B) BT BRD
(C) 1 dR& (D) JARBT HRB

Q119 I8 W U g | NEifhd &I WS 187 |
(A) Feagaras ad=m
(B) 3ifFeagarad |-
(C) frotaras aa-m

(D) Uedrad A

Q120 THSER’ G AT &1 B AT 98 8—
(A) STt faeror
(B) S=marad faRreo
(C) uRvmvaras faeror
(D) [orarad faeror

QI121 ‘=4l G | g1 faR9or g—
(A) ==y (B) =rdf
(C) afda (D) Tt

Q122 'arg’ Fed -
(A) fopaT & o T BT
(B) fohaT & WM ®U BT
(C) fohaT & ISwH wU Bl
(D) foham & HYY w4 Bl

28

Q123 &Il & fdha g &7
(A) |1d (B) ©e
(©) = (D) IR

Q124 dE9q vTeg d &—
A) BH & 9o ol |
(B) faceh vt &
(C) 3¢ vkl H Igad |
(D) E%pd V&l W BB g A

Q125 TIH T UgATY—
(A) st (B) &
(C) W (D) §ex

Q126 YA TKT HT HIH—AT T Fel ol 57
(A) IS, fIgaTerd, ehd
(B) AN, HAfeen, 3iRd
(C) U=TS, Yad, TP
(D) 31T, AR, 3

Q127 T ¥ Wl fIa™ weg J#H Hia—4T 87?
(A) 3MEH-Ya™
(B) Me—-a™
(C) YeH—fas=
(D) 3MTeTH—ATIT

Q128 3R’ W& B AThredl Tq—FHE BT oI
DI
(A) IRT—SHT
(B) aRT—=aer
(C) WY
(D) TRG—3ToT

Q129 ST B HRAT HBfcd &' aqrRIe & forg
% v forRau—

(A) TR (B) ¥R
(C) ®fc (D) 3rF¥q
Q130 Ue USi TR MUAT oo T 2 |
WET Teq ARY—
(A) AR (B) <M
(C) s (D) I
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Q131 '3 Ul & &1 U=R B
(A) 3R (B) srguHr
(C) 3R (D) 3R

Q132 gelaps’ W H vt Uy b1 YA BT
87

(A) 1
(C) sTns

(B) s
(D) 33

Q133 Narsifer &1 wE Af—fawg 8-
(A) AT (B) Md+STell
(C) "iaraisifer (D) id+aisrtor

Q134 I fAcTaR ¥l AT B | —arad &7 Ig
w4 BIT—
(A) T ATHR Thel Y |
(B) ¥l fAerar 1T ¥t oI 2 |
(C) ¥ fietax Tahal o 2|
(D) a1 A1 el I € |

Q135 "]AEER” H DI AT FH 87
(A) 3l 919 (B) Yoy
(C) 3fay (D) gvs

Q136 H @ g |—dhHared WY BHTT—
(A) 9T GTaT ST o |
(B) R ¥ WRIT ST B |
(C) 1 @RI =18 oIl & |
(D) I3 @R Sl ¥ |

Q137 ¥ RIS vgdl § |—are H fehar faemor &t
e o
(A) rHarasd foear faemor
(B) fcrarad fohar faero
(C) Prerarad fohar favmor
(D) uRvrHaras fehar faemyor

Q138 4 # & e faed g—
(A) ? B) !
©) - D) /

29

Q139 il & <RI ST — TR BT 37ef g—
(A) T BRAT (B) I HAT
(C) 94+ 81 (D) ©1 &

Q140 JATRITIT BT AT 372 B—
(A) did & 3fddT (B) ol dI ardd
(C) @i & o=@ (D) 31! aTdd

Q141 IH® IS T Fearad H 91 TIdR YR

off |-} A 9Ty |
(A) ¥faa | (B) dR 39
(C) 3y ™ (D) TR 3™

Q142 AUTE b AP aROT § fhail A=Y BIeh
27
(A)
(C) usE

(B) T8
(D) 9Tt

Q143 ®Tell gcl Bl gHS Ul |—-3TidR ddrgi—
(A) TH®H IADR
(B) SUHT 3TdhR
(C) 3TIUT 3B
(D) ®USD 3D

U9 AT 144 T 148 BT Ik ST U
TR & MR W SRR

faeg o P A A e T8, o
I & g BT T ST B g fafa=
UHR & UY ulerd qr yareral & fofg
THHTH ST XIS 9 3MR 3o 4 & | =
P ARG e W 57 ARETUT &Y el
TS| ST W1 I GRETT Bl aTIhall
Ul SRl €1 & g8 B aAl H S Us
Uy NI SU9 @ I B AR
PRI B | 39 BH SHRG, HHMER M
I & folU &3 PR B ABfSAT U
BT B § | 1T 8 BRI 999 B forg
Fedl ARl Sude Bl § Ry §%
PIC B AT A1 ShT ARETT AT ITeDH
21 Us U aul BRI § HER-ID Y
TITIROT BT & PR & | I8 T8 bras

SET-B01



Www.prepp.in

SRIffrgs o favel 9 & AR
P erar Y B §, oAy a1 # A1 B
A 991 BT 2| VAT BB 9 AN
g} BT RS & B |

TITEROT I GRETT & AT A1l AR TS
IR UISTST &l FET BT FHE= A =1
P TRETOT W B GYd 8 Fhdl 8 | a9 D
HRUT B Afedt e HaR S @Y
IMAYR Holldh? vaTfed & &l 2 |

Q144 T &1 Y4 i BT A o—

(A) T BT AE HASHT
(B) T BT IS Bl
(C) =1 BT 99T

(D) 99 R

Q145 M3 WIS | AU 28—

(A) WIS BT I
(B) g HT
(C) W& HT =

(D) 3™ &1 I

Q146 = & ARETVT ¥ AT T—

(A) THI BT PHreAT
(B) T BT BT
(C) I BT ATH BT
(D) =1 BT I

30

Q147 a9 IR Bl T fhd UBR B 87

(A) TS A TR

(B) BRI T&R
(C) T9T R H FERIH I
(D) THS! TP
Q148 Ffeai & ST fhad HROT yarfad &f
& 7?
(A) T4 B (B) &Rt &
(C) fasi & (D) 9q&l &

Q149 "SUEy qu” fHad! == 87

(A) STIIAN UG

(B) Hfreferer T

(C) o Ut f=Ten
(D) JfAATE ud

Q150 3T & acArr fhdadT =T 87

(A) HETdl aHf

(B) arre Rig

(C) RERM RO T
(D) IFwia Bt fARrenm
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ROUGH WORK /X% &1 & foru
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Read the following Instructions carefully :

frrafefaa f<el & &9 9 U

1. Candidate shall not remove any page(s) from the Test
Booklet and if any page (s) is/are found mising from
his/her Test Booklet, he/she may be liable for suitable
action.

2. Out of the four alternatives for each question, only
one circle for the correct answer is to be darkened
completely with Blue/Black Ball Point Pen on the
OMR Answer Sheet. The answer once marked is not
liable to be changed

3. The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
else except in the specified space in the Answer Sheet.

4. Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except for discrepancy

in Test Booklet), another set will be provided.

5. The candidates will write the correct Series in the
Attendance Sheet as mentioned in his/her Test
Booklet.

6. Each candidate must show on demand his / her Admit
Card to the Invigilator

7. No candidate, without special permission of the
Superintendent or Invigilator, should leave his / her
seat.

8. The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty. Cases where a candidate has not
signed on the Attendance Sheet will be deemed not
to have handed over the Answer Sheet and dealt with
as an unfair means case.

9. Use of Pencil/Electronic/Manual Calculator is
prohibited.

10.The candidates are governed by all Rules and
Regulations of the Board with regard to their con-
duct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and
Regulations of the Board.

11. After Examination is over, candidate has to return
his Answer Sheet to invigilator. Invigilator will hand
over the Candidate’s copy to candidate, then only
candidate is allowed to leave the examination hall.
Candidate is allowed to take away Test booklet and

Candidate’s copy of answer sheet.

1. Weeff B 9 g / gai ol e gReeT A
T TE BT | AT BIg AT U= IHD / IHD
et gRAPT A ATIT Ul S 8, 98 Suged
FHRIAE & oy R &1 96T 7 |

2. U% Yo & forg Ay T =R fased # 4
TE IR B oY . TH. IR, SR 03 W
S U el DI & P RE lel / Blel ITel
Uige U9 9 W | Uh IR IR 3ifhd fbu o™
S 91 S gaal el Sf Hhdl ¢ |

3. qRIereff ARFd e & ITR I Bl AreT 7
ST U4 S8 TR BIs =g 9= 7 &g |
oiEell AT TG SR UF W uiRa

@ & AfaRad s 9 ford |

4. IRIeT GRADT Ud TR TH Bl TIIT
BN, Fifd fhdy ff aRRfY § (@aar ader
GRADT H HH DT B B) FERT Wl GRIDT

UG IR U5 SUE] T8l BRI ST |

5. TYET H @ T AR B ot
el TP I U BIORI—I (ATTENDANCE
SHEET) ¥ ford |

6. I8 S WR JAH qRIetefl, et raviefdh Pl
T g9 u= e |

7. JANeTd AT PBeT A<D DI ALY FART B
o oIS uiemel sroHr W= | uIg |

8. PRINT el NIeTh Pl T IR UF U
fom oRiemedf eroer e T8 ured | afe
fooell oiemeft 9 BIRNI—9= (ATTENDANCE
SHEET) R BIeR el fahu a1 I8 #=1 S
P AT SR UF T8l e’ § 3R T8
ST AT BT HHST AT ST |

9. AT / Selagiivd / gxdalfeld UR®Ad &l
IgAT afid 2|

10.90ETT BfA ¥ RO & forg gienelt dic &
a1 st va fafemi gR1 R & | srgfd
vd fafeesi & srgeR Bnm |

1. TRIET & SURIT 3nell SR TP el JRIeTd
BT el < | Ir<IeTd gRT 3ngefl Bl SR
TS bl 3Rl Uit ST HRIg SITUHT oI
oI SURIT & BeT DI Bl Bl AT al
QAT | oXie gRADT T SR UFD D
e ufdy anaeft @1 e |1 o S @l

gAY 2 |
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